2. HITHIERAL (WER)
(1) FERLZE - HFE@TFH
OIERLE - FFEFEE  HEGHEK

FERLZE - A HE
FERLZE - A HE

A 1,000 N AR HETTIX 31 ET T,
HEUIEEHET )Y 8,648 N THi%,
BT T EAENAWATTHIK AN OB T2 B2 %2 5D 5,
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WERr| MK | W4 READ jg'i%tf% iz |
L | B |gsmmT 16,845 8,648 5.451| 19
2 | AT |AIRET 10,084 4,322 1.811] 75
3 | A AT 9,163 4,071 6.920| 11
4 | TN | R RRAET 6,993 3,981 4.890| 24
5 | Bl |BwAERT 7,064 3,745 4.464| 26
6 | B |fEsEsEET 6,898 3,635 1.144| 98
7| BN |ERRARET 5,278 3,630 1.495| 81
8 | W AR 8,060 3,176 6.512| 14
9 | I |vE)I mET 5,254 2,655 2.220] 62
10 | BRI | FoEmT 5,984 2,614 4.290| 28
11 | B8 |amnr 5,129 2,409 2.484| 50
12 | EAR |[FEAKHET 5,402 2,257 4.584| 25
13 | AR | bEF4RmT 3,976 2,166 1.860| 73
14 | A | HERT 2,505 2,027 0.722| 109
15 | EK |EAET2TH 3,229 2,019 1.121] 99
16 | R |[#E EnT 3,388 1,666 2.516| 49
17 | A SRR 6,728 1,495 6.035| 16
18 | AJT |z ANT 2,745 1,481 0.465| 123
19 | B8 [k 5,160 1,432 1.232] 95
20 | [EA |BpRHET 2,945 1,423 1.727| 176
21 | FAR |HRET 2,879 1,396 1.159| 97
22 | AT | EEET 5,560 1,333 1.437| 83
23 | TER DKERHT 2,651 1,317 8.707| 5
24 | N | BIRET 3,597 1,258 5.079| 22
25 | AR |EART1ITH 2,736 1,249 0.614| 116
26 | R |{EKRRET 2,969 1,247 6.208| 15
27 | AT |fHsERT 1,854 1,231 0.504| 121
28 | BRI |[JIw EHT 3,165 1,207 1.285 91
29 | {AIN | SEARET 1,682 1,132 3.365| 39
30 | TEM | EE LT 2,512 1,074 3.238| 41
31 | AN | T HJEHT 2,574 1,021 6.804| 13
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